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Section A

For Questions 1 to 30, choose the most suxtable answer and shade its number in the
OAS provided.

1.

Study the following organisms below ca_n;ef_ully.'

banana plant eel platypus o housefly

These organisms can be grouped together based on certain characteristics:

' need air, food and water
move freely from one place to another
can reproduce
live on land

A only

A and B only

A and C only

A, C and D only

TBRG IRI>

Alice wants to place the items listed below onto two separate shelves.

clear piastic bag - mineralwater < - . porcelain spoon
orange juice * hand towel
lodine solution " ‘wooden ladle ", metal fork

How should she classify the objects such that there are only four items on each shelf?

00 Conductors and non-conductors of electricity
Magnetic and non-magnetic materials

frss
_(® Opaque and transparent materiais-
()

Solid and liquid materials



3. Study the chart below.

{ Method of reproduction ]

— _ 1.
[ Giving birth J FLayinlg eggs J

| »
1 I -

| — So— ,
| Mammat || Fish | | sect | | .Mammal || Repite ]E;:J [ Bira | .

3-stage ||. 4-stage
life life
cycle cycle

) [ (2[5 () (=] (]

Which of the following represents the spiny anteater, the dragonfly an;i the dolphin?

m

Spiny anteater Dragonfly Dolphin
(1N 0 A ' - C . - | A
(2) A ok ' B
3) E C A
(4) B : D B -




4. The diagram shows two flowers from the same plant.

Which pair of arrows shows poliination taking "i)lgce?

(1) AandB
(2) BandC
(3) AandD*
(4) CandD

5. An oil spill from a tanker covered a large area of water near the seashore. The
organisms living in that area were badly affected.

Which of the following statements is/are true about how some seabirds were badly

affected?

/¢ They drank the water that was contaminated by the oil.
"Bz They ate the fish which had swallowed the oil and were poisoned.

C: Their feathers were soaked with oil and they could not fly.

[ Their feathers were stuck together by the oil and they could not keep themselves
' warm.

(1) Bonly

(2) AandD only
(3) A,BandC only
(4 A/ B, CandD



Four statements are.made about some organisms in a food web shown below.

=

N

D———yG

7
S

K .
Statement Trie |'Fdlse | Notpossible
: e ] totell

A: | Cis a maize plant. ' | _ J
B: | There a;eﬁii‘;;l;ri‘t-éatef-s" L - " y _' _' o B
C: |Fis both a pneyandapredator ' R '_ . N 1 |
D- H dxrectly controls all the populatxons in the ' . S J

" | food web. '

Which statement is wrongly ticked? .
&
@
R 54
4

oOw>»



- 7.

Richard has two aquariums;, A and B, each containing a‘different type of plant as
shown in the diagram below. Both aguariums were left under a similar light source for
five hours. The amount of dissolved oxygen in each aquarium was measured at the
start and at the end of the experiment. :

Aquartum A ‘ Aquarium B
light sourgss

3000 e of
tap waler

fable

What was the aim of the experiment?

[1 To find out if the amount of light affects the rate of p-ﬁottousynthesfs.. i
To find out if carbon dioxide is given out during phdtosyithesis:

. {38) To find out which type of plant has a faster rate of photosynthesis.

- To find out if different amounts of dlssolved oxygen affects the rate of
photosynthesis.

Three children tested some food with iodine and récorded the results in a table shown
below:

Food Observation

Rice grains lodine turns dark blue

French fries lodine turns dark blue

Fish lodine remains the same colour
Chicken lodine remains the same colour

Based on the table above, the children made the following statements:
Cindy: Starch is not present in the meat tested

Sally: Starch is not found in meat but only in plants.

Jane: Only seeds contain starch.

Who made the correct statements?

(¥ Cindy and Jane only

Cindy and Sally only
Sally and Jane only
) All of the children



Study the following concept map.

Energy from the

Sun

water

proauces

1.

B

excess amount stored as

|

releases .

oxygen

ldentify process X and substances A, B and C respectively.

X A B c_
| ) | Photosynthesis Oxygen Starch Sugar
$2) Respiration Carbon dioxide Sugar Starch
<) Respiration Oxygen Starch Sugar
| (&) | Photosynthesis | Carbon dioxide Sugar Starch



10. Rahman dug a hole in a shaded and damp location in his school garden. He placed a
clear plastic jar without its lid into the hole. He then placed a broken branch over the
opening of the jar as shown below.

. broken branch

- dried leaves

ff§§§E§§?5ix§?hiﬁquw

When he checked the jar a few days later, he found some organisms in it. Which of
the following organisms would Rahman most likely find in the jar?

Ants
Spiders
- Millipedes
.Catermpillars

:B and C only

A, B and C only
A, C and D only
B, C and D only

FERE XARP



11.

12.

The fennec fox lives in the desert. The two line graphs below show the relationship
between the behavioural patterns of the fennec fox.and the temperature changes of
the desert in a day.

]

temperature

0000h 06 00 h 1200h- 1800h . 2359h

What conclusion can you make about the fennec fox based on {ié graph?

B¢ ltis structurally adapted to survive in the hot desert.
97‘ It is able to survive through long periods of drought in the desert.
6 Its behavioural adaptation helps it to survive in the hot desert.
¥, lIts activity increases when the temperature is cooler from 21 00h to 06 00h.
d AandB only
(%) AandD only
B and C only
C and D only

The table below showed the performance schedule of penguins at a partlcular park
from 3" to 9" January 2011,

3@ 4" : gt 6t 7t - 8"' g™

(Mon) | (Tue) | (Wed) | (Thu) (Fri) (Sat)A A(ng)
Number of 0 2 2 3 3 5 4 -
shows N L

The trainer took note of the food intake of his penguins over that week. His data was
shown in the table below:

(Mon) | (Tue) | (Wed) | (Thu) (Fri) (Sat) (Sun)
Number of '
fishes eaten 30 60 60 70 70 90 80

What conclusion can the trainer make about the penguins based on the schedule and
data?

{H . Penguins need less energy when there are more performances..

(2) Penguins do not need energy when there is no performance.

{3 Penguins’ intake of food does not depend on the number of shows per day.

(& Penguins' intake of food increases when the number of performances increases.

8



13. The-PSI (Pollutant Standard Index) values show the quality of the air ina particular
location. The indication of the air quality with the associated range of PSl values are
shown in the table below:

PSI Value Air Quality
1 to 50 Good
51 to 100 Moderate
101 fo 200 Unhealthy
201 to 300 Very unhealthy
Above 300 Dangerous

The PSl in this location was taken over five days and the resuits are shown below:

. Days . ___..PSlvalues
e ~ - TR
2 91.
3. 113
4 . 128 . ..
5. 148 .-

What is/are the possuble reason(s) that explain(s) the pattems observed in the PSI
values gver the five days?”

A sudden volcanic eruption took place near the location. .
Ash caused by forest fire is released into the air forming a haze.

. Exhaust fumes contamlng carbon monoxide and sulfur dioxide.are released by
vehicles.

Fumes containing harmful pollutants from factories are released into the
atmosphere.

DR

&

A only

‘B only

B, C and D only
‘A,B,C.and D

BREER



14. Terence was. reading an article in the National Geographic magazine and noted the
interdependence of 4 organisms, P, Q, R and Sas follows. :

A: If population R leaves the habitat, population P will gradually decrease.

B: If population P increases, population Q will decrease.

C. [f population S dies, all the other populations will be affected and will eventually
die. . -

Based_on'his of_)__servationé, ‘which one of the following shows a:p'ossible food chain

linking the four organisms?

D P>Q>R>S
S >R >Q->P
S >R >P>AQ
A P > Q> S>> R
15. Xiao Wei conducted an experiment to find out if water is needed for moutds to grow
on bread. -
e Air-tight
stopper
- Substance to
absorb moisture
Toased
bread
£l
Container A Container B

Which of the follbwing statements is/are true about the experiment?

The toasted bread did not decompose.
Moulds appeared on the damp bread. N
Decomposition cannot take placein both containers A and B.

orR

Aonly

B only

Aand Bonly .
A,BandC

RERE

10



16. Farmer Ah Hock planted 4 fypes of plants, A, B, C-and D in his plot of tand in June.
The map below shows where the plants were located and the distribution of their

dispersed seeds.

- .
x
.Plant A ' PlantB | ™
=
(]
n
|
* *
* - . " -
. -
) )
Plant C .| o Plant D
Key : | ¥ Seed of plant A m Seed of plant B K River
® Seed of plant C Y Seed of plant D _V\.ﬁnd‘
L | direction
How were seeds from plant A, B, C and D most likely dispersed?
A B e D -
. wind “animals water - > -wind- -
A water wind water splitting
1) water wind splitting animat
60 water animals _splitting wind

11



17. The diagram below shows the digestive system of a human body.

18.

In whlch part, A, B, C or D, of the human dxgestlve system would the.digestion of a

piece of bread start and end’?

Digestion starts, Digestion ends .
1) . A . “C ‘
(2 A D
(3) B C
4) B D

James was given cells A, B, C and D from different parts of a plant and an animal. He
observed the sample cells under the microscope and recorded his observation in the

table below.
Cell A Cell B Cell C Cell D
Nucleus N NI N
Cell wall v N}
Cytoplasm v v V- x(
Chloroplast N
Cell membrane N N N N
Which one of the following classifications is cormrect?
_ Animal cell Plant cell
1) Cand D AandB .
@) AandC Band D
(3) BandD AandC
(4) A, Band C D only

12




19. Mei Lin covered a pot of well watered balsam plant in an opaque-plastic bag and
sealed it tightly to prevent air from escaping and entering. Next, she placed the sealed
potted plant in her garden under direct sunlight. The experiment was conducted at

10am in the moming.

balsam plant

opaque pla‘stic bag

Ay
<3 >
oA

Which one of the following correctly ‘Shows the change in the amount of gases :
present in the sealed potted plant in the afternoon and‘at night?- =

13

Amount of ox Jgen Amouﬁt of Garbon dioxide
Afternoon Night Afternoon Night
(s decrease decrease increase increase
|59 increase increase decrease decrease
B) increase decrease decrease increase
& increase decrease increase decrease



20. The diagram below shows the movement of blood to and from a human heart..

Rest of body. .

Which one of the follow:ng descnptlons about the blood in b!ood vessels A B C and

D is correct?
A B [o D.

' rich in- rich in poor in poor in

ﬁfm carbon dioxide oxygen carbon dioxide _.|" .. oxygen

& poor in-- " rich in rich in KD rich in
s oxygen carbon dioxide oxygen carbon dioxide

3 poorin - poor in rich in rich-in

carbon dioxide oxygen carbon dioxide' oxygen

% rich in poor in poor in rich in

, carbon dioxide oxygen carbon dioxide oxygen

14




21. Jia Wén placed a piece of cork in abasin of wWater. Neéxt,'she made a hele atthe
bottom of a transparent plastic cup and placed it over the piece of cork. She then
pushed the cup vertically down into the water.

'_'Hole‘iﬁ-z‘:up'—‘_———-—] P -
‘\ ' ’ Transparent

‘ : plastic cup
A (:Cork

= — - —— - - ' ."':u‘“" [T o
- T L wister

Az g Y v

=1 AR IR T ol

BURPTRNEL R A T T Y I R L IS D VB L ey el o oo
Which one of the foliowing diagrams shows the resuit of her experiment?. ..

15



22. Boxes X, Y and Z describe the three states of matter.

X Y S

No definite volume, Definite volume, Definite volume,
no definite shape definite shape no definite shape

The changes in the state of water are shown in the diagram below.

water > fce > water > steam > white mist

Which one of thelfollowing correctly shows the‘ 'ab'-ove 6hang'_eé?

(Y Z >Y > 272 2 X > Z,

@ Z >Y>Z>X>X
B) Y >DX>Y>2Z>zZ
) Y D.Z.> Y >X > %

23. Aball is rolling towards a bowling pin. Ali applies a force on the ball in the d:rectlon
opposite to the movement of the ball as shown below.

bowling pin

bowling ball

force applied

A

Whlch of the following could happen?
The ball could - , .

stop moving (

move away from the bowlmg pm

move towards the bowling pin at a slower speed.
move towards the bowling pin at the. same speed

C only

A and B only
A, B and C only
A, B, CandD

E2RE eREX

16



24. The graph below shows the changes in the length of a spring when varlous weights

25.

are attached to it.

Length (cm)

127

e

I S i

"9

50

300

150

Mass (g)

Using the graph, predict the extension of the spring when a 200g-weight is attached to

the spring.

(1) 6cm
(2) 8cm
(3) 10cm
4) 12cm

Rani prepared four set-ups, A, B, C and D by placing water into containers made of
the same material. The table below shows the different conditions at the start ‘of each

experiment.
Set-u
A B : Lo
Room temperature (°C ) 27 27 27 32
Exp_osed surface area of water (cm? 80 140 - 80 - |-~ 80
Volume of water (cm?) _ 400 600 600 | 600

Rani wanted to investigate how the rate of evaporation of water was affected by the
exposed surface area. '

Which of the following set-ups should Rani compare?

17



26. Shen Han wanted to find out the best way to store magnets. He stored four identical
magnets, A, B, C and D, with other magnets of similar strength as shown below.

W | X

N Magnet A S

Y
N MagnetC* S

S N

s N

After two weeks, he suspended the four magnets., A, B, C and D above a tray
containing some pins. He observed the number of pins attracted to each magnet to
determine its strength.

¥ 3 A

Based on his observations made, which is the best way to store magnets?

(Y w
2) X
@3) Y
@) z

18



27.

‘Wei Jian conducted an experiment to sted
evaporation of water from 3 identical wet towels over a p

effects of temperature oh the

following graph should he use to present his results?

W) Size of towel

1

—> Temperature of surrounding

{&] Mass of wet towel

A

—> Temperaturé of surrounding

(X Exposed surface area
of towel
A

!

—

—» Mass of wet towel

) Mass of wet towel
A

+ Time taken for wet towel to dry

19

ich of the



28. Sharifah set up an electrical circuit below. She connected four ob;ects A ,B,CandD

29.

to the circuit. bell
]
A
bell bell
box
containing.
batteries ——
D B
switch’ & '\ pell
4‘.- , _,)

When she closed the switch, only three bells in the circuit rang.
Which one of the four objects, A, B, C or D is an eléctrical msulaltor‘7

& b
g;C

In the circuit below, the bulbs and batteries are all working properly.

] st

1
—RQ—~2

s /3 _r'- _
[ T

What will happen to the bulb(s) if only $1 and S$3 are closed?

Only 1 bulb will fight up.

~ Only 2 bulbs will light up.
Oniy 3 bulbs will light - up.
None of the bulbs wili light up.

20



- 30. Adrian makes a toy boat as shown below. He attached the windmill to a propale'r at
the bottom of the boat. The boat moves swiftly in the water. However, half-way
through, the windmill falls off. The boat continues to move but at a siower pace.

windmill

7

SNg—
N—

bropeller

Which of the following tables correctly shows the source of energy?

) Sourceofenergy '~ | - Yes - | = No
| Wind - ’ - N B
Heat v
Moving water ' N
@) Source of energy Yes No
| Wind ' v
Heat . N
| Moving water ' ' v
o1 Source of energy Yes No
Wind - v o .
Heat V
Moving water - v '
1§ Source of energy Yes . No
| Wind - v
Heat ' N -
Moving water - | : : ~ ]

21
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Section B
Read the questlons carefully and write the answers in the space provided.

31. Rosy examined the leaf from a bélsam plant i’.mder a microscope and found tiny
openings on the underside of the leaf. The picture below shows what she saw.

._,» oy -7!,__.-_,

(@) Name 2 functions of the tiny opening X. (1m)

m

(ii)

Rosy then observed the ieaves of some floating aquatic plants. -

Floating aquatic plants

|

(b} On which surface of the leaf of the ﬂoatmg aquatic plants would Rosy find more
tiny openings? (1m) :

(¢) Explain your answer in part (b): (1m)

22




.32. Susan studied.about the environment and how different animals depend on one
another. She came across a graph below which shows the change in the population

size of two types of organisms, A and B within a habitat over a period of time. A and B
are the two main animals within this habitat.

Number of
organisms

N

:Organlsm A

] 1 i 1 i | { -
0 10 20 30 40 50 60 70 80
Time (Years)

(a) Based on this graph, what is the relationship between the population of organism
A and the population of organism B? (1m)

(b) Susan also concluded that organism A is the prey of organism B. Do you think
that she is correct? Give a reason for your answer. (2m)

23




33. Study the pictures of the beaks of two dlfferent b:rds X and Y as shown in the -
diagram below

Brd X = Bird. Y

- (a) - Give a difference between the functions of the beaks of birds-X-and Y. (1m)

(b) Explain how the feet of birds X and Y would be adapted to help them survive in
their environment. (1my)

24



34. The diagram below shows Brandon’s paternal family tree.

Brandon’s Grandparents

@

Cousin May_bel_le

@ female with dark skin O female with fair'skin

/ male with dark skin male with fair skin

(@) Complete Brandon’s fémily tree by drawing and labeling in the diagram to
' show Brandon and his younger sister. Both of them have fair skin. (1m)

(b) Cross (x) out the symbol on the family tree above that represents Brandon’s
single aunt. (¥2m)

(c) Circle the symbol on the family tree above to show from whom Maybelle got her
-dark complex(on (’2m)

25



35 The picture below shows a Pong Pong ffuit and fruit A.

_ P-ong Po_ng fruit. . - Fruit A

(a) List two methods whlch Kok Meng could use to find out if fruat Ai is scattered in
the same way as the Pong Pong fruit. (2m)

Method 1:

Method 2:

26



(b) Kok Meng dropped two shorea fruits B and C as shown in the diagram below
from the same hetght . :

He recorded the time taken by ‘each fruit fo reach the ground. He did the
experiment four times and recorded the results in a table as shown below.
However, some ¢f the results were recorded wrongly.

5 ¢
Set1 ' 2.3séc ' - 3Bsec
Set 2 3.6 sec " 36sec
Set3 3.6 sec 3.3 sec
Set4  36sec 5.1 sec

()  Which of the above jg most likely to be the correct set of records? (1m)

(i) Explain your answer in part (i). (1m)

27




36. Junita used the following set-ups to carry out an investigation to find out the amount
of soil coliected from each container after she had watered the plants. All variables in
her experiment were kept the same except for the number of plants in each container.

> soil collected ..

Set-up P'| ) . _'_Sét—up_,.Q'

(2) Junita used the same amount of water to water the plants in both set-ups. How
does this make her experiment a fair one? (1m)

(b) Based on the amount of soil collected from each set-up as shown in the diagram,
what could Junita conclude from her experiment? (2m):

. (c) Based on this observation, suggest one programime that the government can
introduce to reverse the negative effects of deforestation. (1m)

28 4




37. -Mr Tan set up an experiment using some germinating.seeds and a cockroach, as
shown in the.diagram below: In the set-up, the drop of ink: prevents air- from entering
each of the test tubes A, B and C.

[

glass tubes

_ .drop of ink

~ drop of ink

chemical to absorb ] 7
carbon dioxide B R

i chemlcaltoabsorb
T arbon dtomde

(@) What do you think will happen to the drop of ink in each of the glass tubes
inserted into test tubes A and C after three days? (1m)

(b) Explain your answer in (a). (2m)

(c) Name a gas inside the three test tubes that remained the same in amount
throughout the expenment (1 m)

29




38. Some coastal regions experience high enérgy waves that can cause massive

destruction of buildings and lives. The picture below shows ‘mangroves growing

along a coast.

When high energy waves hit this coastal region, how do these mangroves help to

ts destruction to buildings infand? (2m)

reduce the impact of i

(i)

(ii)

30



39.. The diagrams below show two leaves, A and B.

purple colour

leafa - green colour

: green colour
Leaf A was plucked from a healthy Leaf B was plucked from a healthy
plant that had been left in-a wooden plant which had been in the sun for
cupboard for two days. two days.

The colours of these leéyes were first removed by boiling and soaking the leaves in
alcohol. Then they were tested for the presence of starch using iodine.

{(a) When a few drops of iodine were added tG Leaf A, the iodine remained yeliow.
Explain this observation. (1m)

(b) When a few drops of iotline were added to the green and the purplé parts of Leaf
B, the iodine turned dark blue. What could be inferred from this dbservation? (1m)

31



40. It was reported in the newspaper that lightning had strick an iron goal post during a
sudden downpour. A soccer match was taking place at that time and the goaikeeper
was standing alone near the goal post at the time of the incident, as shown in the
diagram below. His life was in danger. The goal post was damaged but it did not
collapse. - R

"Point X

B

Pool of rainwater

Investigations showed that the lightning bolt struck the goal post at point X.
‘Suggest how the lightning could have ‘hit' the goatkeeper and endangered his life.
(2m)

32 _- 2




41. Study the circuit diagram below. The bulbs are labelled A, B, C and D: The ,sWEtghes
are labelled 1, 2, 3 and 4.

)

(a) Which two switches should be closed so that only bulbs B and C would tight up?
(1m) |

(b) Which bulb(s) will remain lit if bulb D fuses when all the switches are closed?
(1m)

33



42. Study the following classification chart.

[ Animals
I

Have wings Have no wings.
'LHaye 2legs Has 6 legs _ ~ Have fur . L Has no fur
[ Can fly Cannot C Lays Gives F
fly eggs birth
A <
B D E

(a) Describe one other physical characteristic of animal C that is not given in the
chart. (1m)

(b) Based on the chart above, describe two similar characteristics of animals D and -
E. (1m) '

34



43. Mr Gopal owns a small recycling factory which separates magnetic metals and non-
magnetic metals. The diagram below shows a mixture of metals going through

conveyor belts, X and Y.
- Mixture_of metals C:

Magnet . 7, Starting
point

- Bin A Bin B

(@ Name an example of a metal which will be collectéd in each bin. (1m)

(i) Bin A:

(ii) Bin B:

(b) Beginning from the stariing point, expléin how both magnetic and non-magnetic
materials were separated and collected using the above set-up. (3m)

35




44. Two identical glass bottles were: placed ina f eld Bott!e A was left open whlle Bottle B
was covered with a glass lid.-

-thermometer

Temperature readmgs of the air in: each bottle were taken at hourly intervals
throughout the day and plotted into a graph as shown below...

ternperature
A

>fime
(@) Explain why temperature readings in Bottle B. were generally hlgher than in
Bottle A. (2m)

(b) How can Bottle B be used to explain the greenhouse effect? (1m)

(c) Suggest one way to reduce global warming in the ényironméﬁf. (1m)

End of Paper




EXAM PAPER 2011
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QL | Q2 | Q3 | Q4 | Q5 | Q6 Q7 Q8 | Q9 |Q10[( Q11| Q12| 013 | Q14| Q15| Q16
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Q18] Q19 [ 920 [ Q21 [ 022 Q23] Q24 [ Q25 [ Q26 [ Q27 [ Q28] Q29 | Q30

2 1 3 4 1 3 2 3 4 2 4 2 3

31)a)i)lt allows gaseous exchange. if)control the loss of water vapour.

b)On the above surface of the leaf.

c)More tiny opening are found on the leaf’s upper surface to maximize gaseous
exchange with the atmosphere.

32)a)If there is a decrease in the population of organism A, B will decrease.

b)Susan is correct. The number of preys should always be greater than the
number of predators. A will supply food for B to sustain the food chain/keep the focd
chain going/otherwise there will be an imbalance of food source.

33)a)The beak of bird X helps to tear the flesh of the prey while the beak of bird Y
helps to catch the fish from the water.

b)Bird X’s feet would have sharp and curved claws to enable it to grip its prey
while bird X’s feet would be webbed to enable it to swim in the water to catch its

prey.

34)a,b,c)

—
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33 i’(ﬁ("é‘ér Brancon
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35)a)1)Place in the water to see if float like fruit A.
2)Open it to see If it has a fibrous husk.
b)i)Set 3.
ii)Fruit B has the complete wing-like structure which enable it to stay in the air
for a longer period of time. Where as fruit C has its wing-like structure cut off.

36)a)The result of the experiment will be due to the only changed variable which is
the only changed variable which I the number of plants.

b)She can conclude that more plants help to hold the soil firmly to the ground to
prevent soil erosion.

c)Replant more trees in the forest.

37)a)The ink in glass tube A and C will more towards test tube A and C.

* b)When the cockroach and germinating seeds respire, oxygen is taken in while
carbon dioxide id given out. Since carbon dioxide is absorbed by the chemical in the
test tube, less air is present to take up space. This cause the ink to move towards
tube A and C.

c)Nitrogen.

38)i)The mangroves slow down/reduce the speed of the waves.
i)They reduce the height of the waves.

39)a)Leaf A does not contain starch as it was not able to make food in the absence of
light.

b)Both the green part and the purple part of leaf B contain chlorophyll so they can
make food and excess food/sugar was stored as starch.

40)The iron goalpost and water are good conductors of electricity, the electric
current was conducted through the iron goalpost to water and then the goalkeeper.

41)a)Switches 2 and 3.
b)Bulbs A, B and C.

42)a)Animal C has a pair of antennae.
b)Animal D and E have no wings but have fur.

43)a)i)Iron i)Aluminium

b)Both magnetic and non-magnetic metals will travel along Belt Y. The non-
magnetic metals will drop into Bin B. The magnetic metal will be attracted to the
magnet. They will more along Belt X until the magnetic for a is weakened as the
magnetic metals more away from the magnet. They are then dropped into Bin A.

44)a)Bottie A was left open, air can pass through the bottle so the temperature
would be around room temperature. Bottle B was covered with a glass lid, air is
trapped inside, the temperature will be higher than bottie A.
b)The glass lid is like the layer of green house gases/carbon dioxide that traps the
sun'’s heat on Earth.
c)Cut down fewer trees.
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